This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 18 - Hamilton West and Earnock

5,352

4

1,071

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Mary DONNELLY	Scottish National Party (SNP)	1,377
Allan FALCONER	Scottish Labour Party	1,092
Graeme HORNE	Scottish National Party (SNP)	752
Mark MCGEEVER	Scottish Conservative and Unionist	1,215
Jean MCKEOWN	Scottish Labour Party	671
Mark Robert RUSTON	Scottish Liberal Democrats	134
Christine WRIGHT	Scottish Green Party	111
	Total	5,352

Candidate Mary DONNELLY Elected with 1,377 votes, being in excess of the quota of 1,071 Candidate Allan FALCONER Elected with 1,092 votes, being in excess of the quota of 1,071 Candidate Mark MCGEEVER Elected with 1,215 votes, being in excess of the quota of 1,071

This report contains the transfers results.

Stage 2 - Surplus of Mary DONNELLY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary DONNELLY	0	0.00000	0.00000
Transfer to Allan FALCONER	0	0.00000	0.00000
Transfer to Graeme HORNE	1,203	0.22222	267.33066
Transfer to Mark MCGEEVER	0	0.00000	0.00000
Transfer to Jean MCKEOWN	43	0.22222	9.55546
Transfer to Mark Robert RUSTON	17	0.22222	3.77774
Transfer to Christine WRIGHT	38	0.22222	8.44436
Value of non-transferable ballot papers			16.89178
	Total		306.00000

This report contains the transfers results.

Stage 3 - Surplus of Mark MCGEEVER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary DONNELLY	0	0.00000	0.00000
Transfer to Allan FALCONER	0	0.00000	0.00000
Transfer to Graeme HORNE	47	0.11851	5.56997
Transfer to Mark MCGEEVER	0	0.00000	0.00000
Transfer to Jean MCKEOWN	335	0.11851	39.70085
Transfer to Mark Robert RUSTON	320	0.11851	37.92320
Transfer to Christine WRIGHT	59	0.11851	6.99209
Value of non-transferable ballot papers			53.81389
	Total		144.00000

This report contains the transfers results.

Stage 4 - Surplus of Allan FALCONER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary DONNELLY	0	0.00000	0.00000
Transfer to Allan FALCONER	0	0.00000	0.00000
Transfer to Graeme HORNE	64	0.01923	1.23072
Transfer to Mark MCGEEVER	0	0.00000	0.00000
Transfer to Jean MCKEOWN	860	0.01923	16.53780
Transfer to Mark Robert RUSTON	32	0.01923	0.61536
Transfer to Christine WRIGHT	17	0.01923	0.32691
Value of non-transferable ballot papers			2.28921
	Total		21.00000

This report contains the transfers results.

Stage 5 - Exclusion of Christine WRIGHT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary DONNELLY	0	0.00000	0.00000
Transfer to Allan FALCONER	0	0.00000	0.00000
Transfer to Graeme HORNE	1	0.01923	0.01923
Transfer to Graeme HORNE	3	0.11851	0.35553
Transfer to Graeme HORNE	21	0.22222	4.66662
Transfer to Graeme HORNE	38	1.00000	38.00000
Transfer to Mark MCGEEVER	0	0.00000	0.00000
Transfer to Jean MCKEOWN	7	0.01923	0.13461
Transfer to Jean MCKEOWN	4	0.11851	0.47404
Transfer to Jean MCKEOWN	2	0.22222	0.44444
Transfer to Jean MCKEOWN	19	1.00000	19.00000
Transfer to Mark Robert RUSTON	1	0.01923	0.01923
Transfer to Mark Robert RUSTON	31	0.11851	3.67381
Transfer to Mark Robert RUSTON	2	0.22222	0.44444
Transfer to Mark Robert RUSTON	28	1.00000	28.00000
Value of non-transferable ballot papers			31.53141
	Total		126.76336

This report contains the transfers results.

Stage 6 - Exclusion of Mark Robert RUSTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary DONNELLY	0	0.00000	0.00000
Transfer to Allan FALCONER	0	0.00000	0.00000
Transfer to Graeme HORNE	13	0.11851	1.54063
Transfer to Graeme HORNE	10	0.22222	2.22220
Transfer to Graeme HORNE	38	1.00000	38.00000
Transfer to Mark MCGEEVER	0	0.00000	0.00000
Transfer to Jean MCKEOWN	16	0.01923	0.30768
Transfer to Jean MCKEOWN	137	0.11851	16.23587
Transfer to Jean MCKEOWN	3	0.22222	0.66666
Transfer to Jean MCKEOWN	56	1.00000	56.00000
Transfer to Christine WRIGHT	0	0.00000	0.00000
Value of non-transferable ballot papers			93.48074
	Total		208.45378